201. In the following question, some part of
the sentence may have errors. Find out
which part of the sentence has an error and
select the appropriate option. If a sentence is
free from error, select 'No Error'.

Writing therapy posit that writing about one's

(1)/ feelings gradually eases the impact (2)/
of emotional trauma. (3)/ No error (4)

A1l B. 2
C.3 D. 4
Ans. A

202. In the following question, some part of
the sentence may have errors. Find out
which part of the sentence has an error and
select the appropriate option. If a sentence is
free from error, select 'No Error'.

The rotational period and seasoned cycles of
the Mars are (1)/ similar to those of the
Earth, as (2)/ is the tilt that produces the
seasons. (3)/ No error (4)

A. 1l B. 2
C.3 D. 4
Ans. A

203. In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it by
selecting the appropriate option.

They the storm approaching.
A. seen B. looked
C. admired D. saw

Ans. D

204. In the following question, the sentence
given with blank to be filled in with an
appropriate word. Select the correct
alternative out of the four and indicate it by
selecting the appropriate option.

This is worse than I thought it would
be.

A. far B. about

C. more D. the

Ans. A

205. In the following question, out of the
given four alternatives, select the one which
best expresses the meaning of the given
word.

Munificent

A. Stingy B. Generous
C. Careful D. Sparse
Ans. B

206. In the following question, out of the
given four alternatives, select the one which
best expresses the meaning of the given
word.

Fledalina

A. wild

B. Apprentice
C. Fugitive
D. Ancient
Ans. B

207. In the following question, out of the
given four alternatives, select the one which
is opposite in meaning of the given word.

Squall

A. Wind B. Scream
C. Cry D. Peace
Ans. D

208. In the following question, out of the
given four alternatives, select the one which
is opposite in meaning of the given word.

Inquisite

A. Examine B. Interrogate
C. Dig D. Ignore
Ans. D

209. Rearrange the parts of the sentence in
correct order. Pablo Picasso

P : showed his truly
Q : a very young age
R : exceptional talent from

A. RQP B. PQR
C. PRQ D. RPQ
Ans. C

210. A sentence has been given in
Active/Passive Voice. Out of the four given
alternatives, select the one which best
expresses the same sentence in
Passive/Active Voice.

Someone has collected the papers.

A. The papers have been collected by
someone.

B. The papers are collected by someone.

C. The papers are being collected.

D. The papers is collected by someone.

Ans. A

211. A sentence has been given in
Direct/Indirect Speech. Out of the four given
alternatives, select the one which best

expresses the same sentence in
Indirect/Direct Speech.

Mr. Pattinson said, “I brought a chocolate for
you.”

A. Mr. Pattinson brought a chocolate for me.
B. Mr. Pattinson said that he had brought a
chocolate for me.

C. A chocolate was brought by Mr. Pattinson
for me.

D. Mr. Pattinson said he brought a chocolate
for me.



Ans. B

212. In the following question, a word has
been written in four different ways out of
which only one is correctly spelt. Select the
correctly spelt word.

A. Exipberamce
B. Exuberance
C. Axuberence
D. Exubereance
Ans. B

213. In the following passage, some of the
words have been left out. Read the passage
carefully and select the correct answer for
the given blank out of the four alternatives.

In order to reason it is not merely
necessary to have a good intellect. An athlete
may have the proper , good
framework, and symmetrical muscles, but he
cannot expect to cope others of his
kind unless he has learned to develop
muscles and to use them to the best
advantage. And, in the same way, the man
who wishes to reason correctly must develop
his intellectual faculties and must also learn

the art using them to the best
advantage.

In order to reason it is not merely
A. correct B. correction

C. correctness D. correctly

Ans. D

214. In the following passage, some of the
words have been left out. Read the passage
carefully and select the correct answer for
the given blank out of the four alternatives.

In order to reason it is not merely
necessary to have a good intellect. An athlete
may have the proper , good
framework, and symmetrical muscles, but he
cannot expect to cope others of his
kind unless he has learned to develop

muscles and to use them to the best
advantage. And, in the same way, the man
who wishes to reason correctly must develop
his intellectual faculties and must also learn
the art using them to the best
advantage.

have the proper
A. proportional
B. proportionally
C. proportioned
D. proportions
Ans. D

215. In the following passage, some of the
words have been left out. Read the passage
carefully and select the correct answer for
the aiven hlank out of the four alternatives.

, good framework

In order to reason it is not merely
necessary to have a good intellect. An athlete
may have the proper , good
framework, and symmetrical muscles, but he
cannot expect to cope others of his
kind unless he has learned to develop
muscles and to use them to the best
advantage. And, in the same way, the man
who wishes to reason correctly must develop
his intellectual faculties and must also learn

the art using them to the best
advantage.

expect to cope others of his kind
A. by B. with

C. thus D. so

Ans. B

216. In the following passage, some of the
words have been left out. Read the passage
carefully and select the correct answer for
the given blank out of the four alternatives.

In order to reason it is not merely
necessary to have a good intellect. An athlete
may have the proper , good
framework, and symmetrical muscles, but he
cannot expect to cope others of his
kind unless he has learned to develop
muscles and to use them to the best

advantage. And, in the same way, the man

who wishes to reason correctly must develop
his intellectual faculties and must also learn

the art using them to the best
advantage.

to develop muscles

A. this B. that

C. them D. those

Ans. D

217. In the following passage, some of the
words have been left out. Read the passage
carefully and select the correct answer for
the given blank out of the four alternatives.

In order to reason it is not merely
necessary to have a good intellect. An athlete
may have the proper , good
framework, and symmetrical muscles, but he
cannot expect to cope others of his
kind unless he has learned to develop
muscles and to use them to the best
advantage. And, in the same way, the man
who wishes to reason correctly must develop
his intellectual faculties and must also learn

the art using them to the best
advantage.

learn the art using them to the
A. for B. of

C. from D. off

Ans. B



218. In the following question, out of the four
alternatives, select the alternative which best
expresses the meaning of the idiom/phrase.

Every dog has his day

A. The weakest will become the strongest,
that is the cycle of life.

B. Everyone will have good luck at some
point in their lives.

C. Loyalty will not go unrewarded.

D. Every person has a talent, and one will
discover it one day.

Ans. B

219. In the following question, out of the four
alternatives, select the alternative which best
expresses the meaning of the idiom/phrase.

I can't think straight

A. Accept that the puzzle is too difficult for
you.

B. Faced with a dilemma.

C. Cannot think rationally due to being
overwhelmed with emotion.

D. Ask for advice on a difficult problem.
Ans. C

220. In the following question, out of the four
alternatives, select the alternative which is
the best substitute of the words/sentence.

Regard something as being due to a cause
A. Adventitious

B. Superfluous

C. Incidental

D. Ascribe

Ans. D

221. In the following question, out of the four
alternatives, select the alternative which is
the best substitute of the words/sentence.

Showing poor taste and quality

A. Savour B. Pike
C. Tacky D. Exquisite
Ans. C

222. In the following question, out of the four
alternatives, select the alternative which will
improve the bracketed part of the sentence.
In case no improvement is needed, select "no
improvement".

The cost of a cylinder then (was) about 218.
A.is

B. are

C. were

D. no improvement

Ans. D

223. In the following question, out of the four

alternatives, select the alternative which will
improve the bracketed part of the sentence.

In case no improvement is needed, select "no
improvement".

A. have attained

B. have attain

C. have attaining
D. no improvement
Ans. A

224. The question below consists of a set of
labelled sentences. Out of the four options
given, select the most logical order of the
sentences to form a coherent paragraph.
With global warming on A-the rise, we have

to do B-save the environment C-every bit
that we can to

A. ABC B. ACB
C. CAB D. BAC
Ans. B

225. In the following question, four words
are given out of which one word is correctly
spelt. Select the correctly spelt word.

A. annexeations B. anexations
C. annexations D. anexeations
Ans. C

226. fArAfaf@a wead # QU v fashedt &
¥ HET g FIA H JAT|
TS ¢ GeAT 11?1 ?

A. aifa : 3EERT

B. §UT : FHYT

C. AR : agAT

D. 3T : ag

Ans. C

227. farafaf@a g & Rw a1v fawedt &
¥ gafta wen A g

54 :135::32:7

A. 90 B. 80
C. 65 D. 74
Ans. B

228. fA=afaf@a gea & ffv v R[eeut &
O HefeT HeR/37ERT S giAT|
RTK : NPG : : XSP : ?

A. TPM B. SOM
C. SPL D. TOL
Ans. D

229, fArafaf@a w27 & fU v Qeveat &
¥ QYA qee IIH & IfAT



A. I - e

B. FHl — teflek

C. THd U - @ HIHAT

D. gafr - drar

Ans. D

230. i U 1 9o #, IR FEAT JIA
few arw §| (-) & SrRff 3R & @& (1) F
gt AR & I8 TEwr ¥ a& ffAga @
grafad | d 38 v ae\@gd & 3R
W A §| fov 71w fapenl & @ e &

RN
A.12 -8 B. 28 - 24
C. 66 -62 D. 84 - 76
Ans. D

231, Rrafaf@a g & Ru v [apeut &
O fawA 3eR/3ERT S AT

A. RNJ B. TPL
C. AWS D. EBX
Ans. D

232. U 1T Ashedl H A, AsghleT &
AR, il T Ase Tgel TUTA T JATTIN?
Packing

Panda

Painless

Pacts

Panic

Panda B. Pacts

. Painless D. Packing

Ans. D

233. farafaf@a g7 & 8 v [eheur &
¥ oo 37 A HioiT|
60, - 52, 44, - 36, 28, ?

2| e e

A. - 18 B.-12
C.-24 D.-20
Ans. D

234, T 3R feam I &, Sad @
9g oed g v v fRwedt #F & 9 @@
feq gfaw, S 3ghA 1 [ R
L,P,T,?B,F?

A. X, ] B. Y, K
C.W,I D.Y,]J

I

Ans. A

235, 3fehcd qa T 3R 17 A, worar g
ag It 3R Hzar § @ur 17 fHaA. gear @
dg Ge: 9T 3R A3ar § dur 24 fH.A.
TerY g A T 9gad &l IR fog qar
foig A & @eg T drely Y@ gt (. )
T §7?

A. 13V2 B. 14V4
C. 4vV2 D. 11V?2
Ans. A

236. fgU a0 fahedl # & g8 Usq AT ST
U T Qe & 37T T YA Fleh Tg] qATAT
ST "ehT &

Uninspiring

A. Ring B. Spring
C. Nothing D. Sun
Ans. C

237. U fafdse s s &, “MAID” &i
“13194” for@r Srdr § dar “TEAR” @i
"205118” for@r rar & 39 FIg W A
“OHMS” & frg gaR for@r sreem?

A. 198135 B. 6191312
C. 1213195 D. 1581319
Ans. D

238. fordt ARad +is #wr # 'x', '+ F
Yeiid &adr g, '+, 'X' & Yeid ar g, -
L' @ uefa aar g 3R+, - @
e #ar §| Reafaf@d e &1 39 A1 d
|

16 -2 +35x20+2="7

A. 13 B. 29
C. 11 D. 32
Ans. A

239, frafaf@a aeor sod §| 39
HHFIOT I & o & fow vt gy Reer
P HIH H HEoll-dcoll AT dMgu?
14-6x30 =+ 10+ 4 = 28

A. - and + B. - and x
C. x and D. - and -
Ans. A



240. 3fe 884 = 64, 5&8 = 80 3 8&1 =
16, A 9&9 &T AT ATT |

A. 124 B. 40
C. 162 D. 28
Ans. C

241, FeAfaf@d & 4 &l ar ge & =
Tl & FH F AR &7

XYXXXXXY, XXYXXXXY, XXXYXXXY,
XXXXYXXY, XXXXXYXY,

A, YXXXXXXY
B. XYXXXXXY
C. XXXXXXYY
D. XXYXXXXY
Ans. D

242. & SEENEAT T & d & Adedr §
Imar X gferor e 7 4.5 fRelidey S I
HH § IR Y grfegar {3 Sl 3R 3R 3mr
7.5 TrelteieT & amar @ &) 5@ & Y
3R fEem & 9 fraefier fr Imm w=r &,
R afger & 3.5 fhaeer ot §, O 3%
# 2 fpeleie S &, Y 9 910 A3 &
3R 3mr 4 fFeeer i T FCAT &) M X
& TEY H M Y Fal g7

A. 6.5 TR, 3T

B. 15.5 fh.#. 3@

C. 15.5 f.ar. gfeyor

D. 6.5 f.#. gfeyor

Ans. B

243. 9T H o YU G 71 § Faah 3mer
ar fasey 1 3R 11 Aot a1 ] 3maenr
AT & 6 Sl ST TcF § O a8
AT Ad aZar & e gdia g &
3Tt AT & & A U av fosest 7 &
Fid-Hl/lA-8 RIS T § HUT GaRT HEY
fArelT S Hevell ¥/Ewa &, Il F1$ &)
FU [: TS IS eSS g &

FUT 11: P 8 9HTT FHETeT A&7 2l &
sy I: 1S off Saciss ufU 8 8T &
sy 11: gafr g eaoiss gl &

A. hadl @Y I TEr &
B. &hael oSy II TEr &
C. a1t fasey I3 1188 &

D. ar ar sy I T@dr § a1 & sy 11
Ans. D

244, fAfFAfaf@dT 3npfa &, Imad here
f3SiIgaR 1 YRRl #Xdr &, g gsHar! &
VeI &l €, TefsT $hodl @l geikia #dr
g AR T Mewd Fr yafd adr §| HeRT
I it T THE 31 SHAR HT TG IRId Il

g S e 3emsay S1ET §?

A ﬁ
A. EG B. DEG
C.1I D. E
Ans. C

245, T JIhd fear @ &, SEH ¥ '
9 ocd ¢| U av fawedt # & aw @
fashed gfaw, ST 3T A QU AR
UPY, QLU, MHQ, IDM, ?

A. FYI B. EY]
C. EZI D. FZ]
Ans. D

246. RAFATATRT 927 H QT 10 [Feheul & &
cd 37 AT S|
147, 153, 159, ?, 171, 177

A. 161 B. 164
C. 168 D. 165
Ans. D

247. &@rx fou 71T yea H, diT &It &
IR §Hg QT 10 §| yds HHg H qEly qur
EY FEAT ggell HEAT H R Uh
ds/faga & gaftd g| e 3¢ o
TH/fATH & YR W} a@A g feu e
pedr d ¥ e F1 afaw]



A. (12, 35, 59)

B. (16, 47, 79)

C. (19, 57, 94)

D. (9, 26, 44)

Ans. C

248. IfE TF gUor H MN Y@ T @I AT
dr & Iy IR IMpfAT H A wle-alr 3R
UReT 3R T HWET GldfeFe grame?

TN

<D
<P

S

@

C. D.
Ans. D

249, fArAfaf@d 3R 3Mpfd & & Sl @1
gel QT 91T et T & & ol v &
FATAT A8l ST Tehal?

Ol * |OX

# +Q
o =0

250. Ueh 2Ueg shael Teh HEAT-HHE SaRT &M
T g, S o fawent 7 & forelt we A e
I &| fashedt & fqU av FEar-aAE Rt &
& g9t garT T v §, Star f& fqu arw ar
3Tegel A g| 3MegE-1 & TFeT AR dfed
EIT 0§ 4 3MTcge-11 &1 58 9 §| FoT 3MMegel
¥ Tk 3MeW &l Ugel 3HHI Uiad AR &g A
TN TEAT @R SATAT ST FeheTl §| 3GEROT
& fow ‘K & 23, 41 3nfg g@rr gurr S
T & d9T ‘P’ # 59, 67 e garT gifm
ST |ehcl §| S oRE & U 9o # fou
sg "NAME' & fIT Hg I qgarelaT g

Matrix-I

g -1

0112 |3 |4
O |l H|H|C]|E |A
1 M|E|A|B|I
2 |M|L |G|K]|E
3/D|H|M|L |E
4 |C | K|A|BI|E
Matrix-I1
3megg -1I

516 |7 |8 ]9
5/0|S|Z2]|0]|P
6 | N W|P | X |W
7 NS | R|Q|Q
8 |O|P [N |X |V
9|V |Z |S|S|T
A. 24,59,30,99
B. 65,12,32,24
C. 10,68,14,95
D. 30,85,44,75

Ans. B

251. 1+l+l+i+£+L
2 4 16 32 64

& T g



A. 1.5 B, 2
e o D.3
Ans. B
252. Ifg o a2 o A
3x—-4y 7 y
gra|
A. 65/19 B. 68/19
C. 67/19 D. 64/19
Ans. A

253. \J(2x—5)% +2{(x—1)> & A @
ffo, afc 1 <x <2 g

A. 1l B. 2
C.3 D. 4
Ans. C

254, 7x + 8ky - 16 = 0 3R 14x +
112y - 21 = O GHEIOT & oA §| k
AT AT H fT@s AT gomel 31T g

A. 2 B. 3
C.5 D.7
Ans. D

255. T BAC T AT A1d &Y, TG HroT
BIC = 125° ¥ 3R \I" F¥eyat &7 3icT: g B

A

B C
A. 50° B. 60°
. 20° D. 80°
Ans. C
256. @HEIOT eyt A A fig Sl & HAHOT
SATE, __ Feelldm g
A. 3d:-ohg B. aRehg
C. dhegeh D. dlFaehg
Ans. D

257. A% 91 B @ ofief I TRY & FUur B
& UrF C & 40% 31fas vy §] afe =t &

afrat & 3Ea 1320 T §, aF AS U

forder Tfer (3 #) 82

A. 2410 B. 2520
C. 2250 D. 3240
Ans. C

258. a1 A X aamYF 3iF 4: 7 &
I 7§ AR X F 3 140§, A Y F
3 FIT g

A. 210 B. 180
C. 245 D. 225
Ans. D

259. 13 ¥/fh.am. HeF dTe THS &I 7
/{31, Hed darel dHH & Y fhe egard
# A S a9 &/fh.am. Heg arer
Ueh TASUT gred gr Sre?
A.4:7 B.
C. 243 D.
Ans. D

260. Tsh THE & 8 HeEAl dr AT 3T 36
a¥ | @9 93 FETg T 3y Hr I3y 32 9
¢l IfE & 39 §ed 93 Wy & "Ag 9
ger &, o AV Hewdt i e g (ast #)
T grer?

3:5
1:2

A. 38.5 B. 42.67
C. 48.5 D. 36.57
Ans. D

261. 10000 & &' 18% ufad a¥ &I sarsT &
8 Thaefd AT W (a1 HATSTel ) I@r
T g afe sarer @1 "@aee rtfariNe fhar
ST, ar fhder 3R 31f¥e sarer (3 #) gred

gram?

A. 243 B. 324
C. 81 D. 162
Ans. C

262.u§azﬁ;ﬁaaﬁrw16%g1ﬁraﬁa:r
grar Xar § aur 1 fF.am. $r seE 9w 680
Iq. & AR HT JAET FIAT &| Fol ol1eT Ffard
FIT 8?7

A. 23.52 B. 16

C. 28.57 D. 19.24
Ans. A



263. THA SaRT Th AT W 5% d4T 15%
&I &Y WiA% P & 95 §| TG AT H1 b
Hed 2000 & §, dl @& & A (T H) 41

g7

A. 385 B. 425
C. 330 D. 500
Ans. A

264. (3 - 2v2)/(3 + 2V2) & FE#HA FT
g2

A. 3 -2V2 B.3 + 2V2
C.1 D. 17
Ans. A

265. T T2V fRET q&dh H 10 T & [T
X Fehd 8] IfE el g 3R g, o g&ash
BN QR A H 2 T FH o97d| IR H

e gew A2

A. 8 B. 15
C. 12 D. 10
Ans. C

266. 3 fop.#./ger & A & T §C TH
s U fAfRad gt & 3 °9¢ 40 e &
g T §| TG 98 TAT g I Argihel
CART 11 §¢ H dF &dr g, ar arsfeer Hr
af (et eer #) /g2

A. 1 B. 2
C. 4 D. 3
Ans. A

267. g 9IS dIC & & T gl aegeia
eRoat & Ryd gfdar & & i gerdr
g 39 IRNG & 3HegIA W AR AeAfaf@da
gl & 3 3

Number of elephants / §1TaY Fy F&ar

gt 1 Fad FA dE&AT FE HHIRUT A
8?7
A. C B.
C.G D.
Ans. D
268. ¥g 9IS dI¢ 3 & i grely aegsia
3eRUAT # RYUT gAY TEAr Fr geriar
| 39 3@ FT LI HY iR Aeafar@a
&t & 3R &

Number of elephants / F1 4} &

D
B

goT JIARUAT A gIAAT T FHol TEAT AT §7?

A. 4500 B. 3000
C. 4000 D. 3500
Ans. C

269. g TS dIC 2T & il gl a=gsig
RoAr J ua grfdat fir @war & garar
g 39 IRG & YA H AR AeAfaf@a
oA & 3 &



Number of elephants / ST Fr F&ar

ARCY D # HAigg gIiAdr i wear &
gfafaf&ca et arer &7 & HAT T FH

A B g

A. 40 B. 45
C. 36 D. 30
Ans. C

270. I 9IS d1¢ &2 & TT gl aegeia
3RO 7 Fya g1fdat fir g & gedr
g 39 IRNG & g Y IR AeAfa@d
geaAT & 3 3

Number of elephants / ST Fr @&ar

IfE 3 HIARUAT H JcAF g1l SanrT dheoll
forar I 3T &awe 50 et fFeeiex &,
ol 3o IR HT FHel &Thel (1000 T

foreli#ex &) T 82

A. 200 B. 150
C. 100 D. 300
Ans. A

271. T qHAETg Feer &1 &ABe 36V3 T
HEFIER & SHHT &M (HERAR ) AT |
A. 6 B. 24

C.12 D. 36
Ans. C

272. Afg vw fAafAa sgerst & HaRs o
&7 AT 540 3ol @ o 3@ Fhcelr ofev 872

A. 6 B. 8
C.5 D.9
Ans. C

273. U ofFd gig dolel & dsh Helg @l
&hel 3T T FA: 132 F9f FHeT 3k
7 @& B sEhr Fars (@EHeT #) 7T
e

A. 7 B. 8

C.9 D. 6

Ans. D

$274. AXYZ & Y W FHRIT §| 3T msX
= 30° &, @ (cosZ + 1/3) &I AT AT |
A. (2+V3)/2

B. (2V2+V3)/2

C. 1+V3

D. 5/6

Ans. D

275. AXYZ & @I0T Y &7 ATT 90° §| Ife
tanX = 15/8 3R XY = 16 &lrefex §, ar
8T YZ 1 oiers (e #) &:r g2

A. 34 B. 30
C. 15 D. 14
Ans. B

276. AFafaf@a & @ fhael #T F1 3AH
UHfd & YR W & HEN H ST §7?

A. ST 1S Hieg B. vsH AU
C. Frol AT D. fAeea wigsda
Ans. A

277. f&@=r (SIDO) fawfaf@a & & fFas
faerra & Fafad g7

A. oY 3eIaT B. €T 31T
C. Al 3greT D. el 3eeT
Ans. A



278, SEHAT ATHH dlslealel fharst &
ﬁmw#ﬁm%m@rtﬁr#ﬁaﬁ
R ar?

A. gReT 11 B. g 1
C. &gy 11 D. U
Ans. B

279. frTah AMTASRIT H dehlol Ug bl JHTCT
T fear =m?

A. 3eT B. SI@IIR

C. QmgSTar D. 3ierae

Ans. C

280. UfSer STorgdTd fohd #dr ) Ryd g2
A. A B. R=rehr

C. e D. W&AT

Ans. C

281. 9T & AET-HA H gl dar §
.

A.6°4 N B.7°4 N
C.8°4N D.6°8 N
Ans. C

282. Sl @rfgcg &r off gr ST
el

A. e B. 39T

C. o9 D. gd

Ans. B

283. gfauela ATARS AT 3R F&m
e H AL ol & fow $Ra 3R
fArafaf@a & @ & ¢or o ggelr ar facger
gfudl AR gam afeat $ ardr 12 G,
2017 Ft 75 Reelr F &I?

A. STqT B. fHamgy
C. 3ireeforar D. gfeyor 3rhrenT
Ans. C

284, S=adl, 2018 #, 3. Aalle dier fagg
FATELT HIST (WHO) garT gfaftsd ugars
SITRTATHT HhiAe §ou Br3see R &
HFATTAT gl aTel 9UH WA do1 5| 98

% TP TS g

A. FAfa 3mAreT B. gdrTawY
C. g D. TITHAT
Ans. A

285, Agrelr #eT fohe fafd # fordr ardhr g2
A. 3T

B. fATdemaR

C. IRy

D. A RAFeT T& & &

Ans. C

286. farafaf@a # & &l a1 wy=T agr g7
A. NaCl T Jedil #X T 3Nf0as R

AT &

B. H2S04 T Jedlehl IR T 37f0ash 8N
ATATT g

C. CaClp &7 el R AT 3Modsh R

AT g

D. Na2SO4 T Jedreht $IR T2T 37fUaeh 8K
HIATT g

Ans. A

287. faFaAfaf@d & & Sl & aer Aaa &
A AL I Tehell &7

A. TFg-fHToT

B. If3aY awr

C. RrdarAT fohRzor

D. Rraiferer foReor

Ans. D

288. TAFAf@d A& & 9Rd A &l & TR
T WIHR gl g2

I T TR AT EIHR

II. TS TR FH THR

II1. ISET TR Hr THR

A. Fad 1

B. el II

C. shad III

D. #I faehod HET el &
Ans. D




289. YTl TST TIEAT H AN T HREiery
fhde 3T TR W gidr 87

A1l B. 2

C. 4 D.5

Ans. B

290. ok FaeT H T JIAF FHATI:
gid g

A. &g afafer

B. shad BT

C. aifaRfier g ®ie gt

D. &hdd W HSR

Ans. C

291. Pl AT Fcdeh UIGUl &l HERT TGTeT
FAT & TUT STl T HSROT off ear 872

A. RewrsAT

B. SloleahISAT

C. ThellhTgHAT

D. #I5 famweT wer 761 ¢

Ans. A

292. 17 3ags 2017 ‘3mgde feadw =
R & Ygol ‘AW HRAT HRde TEAT
(U3SISU)’ T SeErea Fel g3 Ar?

A. Heg B. 3gXTgeT
C. 7% eelr D. SraR
Ans. C

293. AR &I Sied AT & G2 I TATAH

Y AT Ired e T AT rgeied

&?

A. gdf =re

B. Il ITsT

C. T #HarA

D. 5FH 3R #HHAR

Ans. B

294. 39 HOT & FiehYoT, of@r G&T3it

THTaRTell AT SEIST & d6dl TcaAT3l &

AT & IR S F AT IR Rea §
CanrT & & fawer afafa aifsa $r a3 82

A. faag ofrer 3feRTT @fafa
B. U, dMuerearAr afAfa

C. d13. U=, HATenH giAfa
D. T, TgEX afAfa

Ans. C
295. 24 Sa3r 2018 i, Afgelm dAT STl
IEEIGRGEIGE G & foT e yeua

T YUl (TASMSTH) GICel I YHREH
feram|

A. fRaR @isfeRat T Jieter

B. fatrar A3t fr A

C. tfs gacl & ISR @Ml & Jister

D. 3ETASTSr AT HTRAGTOT HRIHA

Ans. D

296. 24 W 37eIH e dTel o] GaRT Herd
FSAT ekl g1l afe 3 6 @ehs & fw =meg
@1 ST §7?

A. 4 B. 144
w72 D. 8
Ans. B

297. S FUAEA a€] NS Hr 3R FFde
FIAT § df T AT S &1 8 3ot BiT
g oo FEd ol

A. EreffepoT B. TARNTOT
C. 3TadeT D. e
Ans. D

298. S | W W1 WA ST H Tl
¥ 39 Had §oTd g

A. aaTE B. &R
C. Rafoer D. &efdaec
Ans. D

299. AFAfAf@a A & &l T HUT T 872
A) SEAT sgAferh & Akl 2017 gAF
dos S’ Aol ATTTATAT S|

B) 2017 # #Ih HGUST o JATET & U
Arereidy # fgwar foram|




C) g gfeer & faw 2017 faFeersa
AT gAa Rered S

A. Sad A

B. A 3R C gt

C. B3R Cgmr

D. #I$ faeheq T 7ET &

Ans. A

300. TTEHAS H, faQryar &r
393N & AT ATS TIT HIAT & QT &
forw R Smar B

A. CELLPADDING
B. CELLSPACING
C. ROWSPAN

D. COLSPAN
Ans. D



